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UPCOMING ONLINE BATCHES
April 2022

06 April 2022

10:30 AM to 12:30 PM
BANK ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

07:30 PM to 09:30 PM
RBI ONLINE LIVE CLASS

BILINGUAL

13 April 2022

BANK ONLINE LIVE CLASS

03:00 PM to 05:00 PM

SSC ONLINE LIVE CLASS

11:30 AM to 01:30 PM

BANK ONLINE LIVE CLASS

(English & Bengali)

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS
(English & Odia)

BILINGUAL

05:30 PM to 06:30 PM

CCC ONLINE LIVE CLASS
(NIELIT COMPUTER COURSE)

20 April 2022

BANK ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS
(English & Bengali)
01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS
(English & Odia)

BILINGUAL

10:30 AM to 11:30 AM

ENGLISH SPEAKING COURSE 2022

(ENGLISH SPEAKING COURSE)

27 April 2022

07:30 PM to 09:30 PM
BANK ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

BILINGUAL

@ www.mahendras.org ) 7052477777/7052577777
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% Mohit.. 19 hours ago
h Thank-you madam for this Amazing class Session.. ) e R

And - H.W-1.option A(29 m).2.optionC(53m,north).thank u ma'am.
My Answers for homework are like- {5 GF REPLY
1). Option A-29m...
+ View reply from Mahendras : Online Videos For Govt. Exams
Read more
& P At debasish chakraborty 1 day ago
v View reply from Mahendras : Online Videos For Govt. Exams Homework -
1.29m
Mohit.. 19 hours ago 2. 53m North
- Though the Diagram is not the same what you have shown madam.. . (&2f Thank you mam. Nice session.
Diagram is somewhat different.. (2= (== 5 GF  REPLY
700
ol P + View reply from Mahendras : Online Videos For Govt. Exams
Thank-you So much madam.. (2= o
g5 &P  REPLY

Rahul Bhakat 1 day ago
HOMEWORK:

1) OPTION A (29m)
2) OPTION C (53m, North)..

Read more

ah &P REPLY

v View reply from Mahendras : Online Videos For Govt. Exams
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Clubs (#), diamonds (#), hearts () and spades (#)
A & B means A is to the East of B
A ¢ B means A is to the West of B

A @ B means A is to the North of B
A # B means A is to the South of B
There are 3 buses travelling from Z to Y.

Bus 1: K154 2] 104K M104],D18 Q@ M C204D,POQ (V4 4P
Bus2:E364ZFO4EGI4QFH19¢GL39OQHY254L
Bus3:N334Z Q4@ NSI4QT4 Q@S C204TU44CU4aVYSQV


http://www.mahendras.org/

/ %ﬂé@ﬂtﬁé&d ’é// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727 /

What is the distance between L and P? (a) 29m
(b) 39m (c) 30m (d) 40m (e) None of these

What is the shortest distance and direction of Y
with respect to E? (a) 49m, South (b) 55m, West
(c) 53m, North (d) 45m, East (e) None of these

U 10 V
5 Q 34 D
2
K L 6
6 ‘
S 5 T ¢ 10 B
10
6 6
12 14
) P A
4
03 R

10

10
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(i) P & Q means P is the brother Q.
(ii) P % Q means P is the father of Q.
(iii) P * Q means P is the sister of Q.
(iv) P @ Q means P is the Son of Q.
(v) P S Q means P is the daughter Q.
(vi) P ? Q means P is the mother of Q

In expression Q&G, G&A%C&D?E*F@H@R, then, how is F related to A? (a)
Son (b) Grandson (c) Granddaughter (d) Either (b) or (c) (e) Either (a) or (b)

In expression Q?P, PRA%WE&D?E*F@H@R, then, how is Q related to the
E’s mother? (a) Maternal Grandfather (b) Paternal Grandfather (c)
Paternal Grandmother (d) Maternal Grandmother (e) Either (a) or (c)
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9RE cIfFd gl ATATGR YfFddl # Ucds A O
cgfdd 3 YR 98 § fF ) 3o safaal &
ST gATT GBI A, B, C, D, E FIFT 1A 4S8
IRFWAINRITAGE P, Q,R, S, T, UdfEFa 2
# 33 ¥ 3k affror i 3R 3w § A
TG AGT Y A H 811 SATAT, 3T sTGTYT
HUh 9fFd H 40 TS TSI FT AT
YT H T TSI FIIRTIA BHF IR A
Tl TYT 9 37 § 3T 377 @ U Sl W ST
gl Q3R RFNTHFaa T IFTdaTRIC, D
F R A TR TATT R ST | RFTHT C Y
IR DA 30F AT QF A IS F| Faw
tHAFTPIRTHF Aadsarg iR aF
e agidodigl UIR s F AT reafFa &8s
8, forasT 7@ A H 3TAF B

Twelve persons are sitting in two parallel
rows containing six persons each in a way
that there is an equal distance between two
adjacent persons. A, B, C, D, E, Fsitsinrow 1
and faces north, P, Q, R, S, T, U sits in row 2
and faces south but not necessarily in the
same order. Therefore, in this arrangement
each member seated in a row faces another
member of the other row. A sits fourth to
the left of B and one of them sits at corner.
Only one person sits between Q and R. C sits
third to the right of D. R faces C. More than
two persons sit to the right of Q. Only one
person sit between P and T and T does not
sit near to Q. Two persons sit between U and
S who does not face A.
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Twelve persons are sitting in two parallel rows
containing six persons each in a way that there is
an equal distance between two adjacent
persons. A, B, C, D, E, F sits in row 1 and faces
north, P, Q, R, S, T, U sits in row 2 and faces
south but not necessarily in the same order.
Therefore, in this arrangement each member
seated in a row faces another member of the
other row. A sits fourth to the left of B and one
of them sits at corner. Only one person sits
between Q and R. C sits third to the right of D. R
faces C. More than two persons sit to the right of
Q. Only one person sit betweenPand Tand T
does not sit near to Q. Two persons sit between
U and S who does not face A.
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A E D F B

|
|

Who faces A?
(a) R(b) T (c) S (d) The person sitting immediate
right of U (e) Both (b) and (d)

Who sits exactly between R and U?
(a) T (b) P (c) S (d) The one who faces B (e) None
of these

Four of the following five are alike in a certain
way based on a group, which among the

following does not belong to that group? (a) R
(b) T(c)B(d)C(e) A

30
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Statements: P<SzI, S>F, M=F<B,Q=K=Y<L<B

Conclusions: . Q<B IL. B=Q
II.P>F IVM=B

(a) Only Il and III follow

(b) Only III and IV follow

(c) Only I, Il and 11T follow

(d) Only I and 1V follow

(e} None of these
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Statement: N>M>E=F>L<U, KzL<Q<R=A
Conclusions: LN<A ILK<E
LM > L IVVM=L
(a) Only I follow
(b) Only Il and IV follow
(c) Only IIl and IV follow
(d) Only III follows
() Only I and IT1 follow

=i
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Statement: O >M=T>B>5=F, F>W<Q=U>Z

Conclusions: LF<O [I.O<B
[LS<U IVO>W

(a) Only I follow

(b) Only I and IV follow

(c) Only IIl and IV follow

(d) Only II follows

(e) Only I and III follow
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Statement: Q=T <B>S=E, E>SW>L>U=Z

Conclusions: . Q=B II.Q<B
[I[I. B<Z IVB>U

(a) Only I follow

(b) Only I and IV follow

(c) Only IIT and IV follow

(d) Only Either I or Il and IV follows

(e) Only [ and III follow

=i
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(a)If the data in statement | and Il are sufficient to answer the question.

(b) If the data in statement Il and Ill are sufficient to answer the question.

(c) If the data in statement | and lll are sufficient to answer the question.

(d) If the data in all the statement I, Il and Ill together are not sufficient to answer the
question.

(e) If all the statements |, Il and lll are necessary to answer the question.
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Seven Boxes B1, B2, B3, B4, B5, B6, and B7 are kept one above another but not necessarily in the

same order. What is the position of Box B7 with respect to Box B3, If Box B3 is not kept at the top?

(1) Only two boxes are kept between Box B5 and Box B6, which is kept in top three places. Only
one Box is kept between Box B2 and Box B3.

(1) The number of boxes kept below Box B5 is same as the number of boxes kept above Box B2.

(111) Box B7 is kept one of the places below Box B5. Box B2 is kept above Box B1.

ATd f8=a B1, B2, B3, B4, B5, B6, 31T B7 Tdh &8 & I & 1T § et S 48T 6 s o F &l
e 91T B3 & A I ALT TQT SATAT ¢, ol f3aT B3 & HogsT # Bea1 B7 FT EAT FATE?
f3=a1 B5 34X f3=a1 B6 & ALY shad ¢ 3=« IW 10 &, [Sieg oY fisT Tam=y ux @ aram | f3=ar B2
3R R<aT B3 & T Fgel T Bear T@T AT R

(1) f&=aT B5 & A= W@ 7T 9581 ) TE&AT, f2eaT B2 & FUT (@ 3T 9FG1 H TE&IT & AT 2

(111) STFF B7 T S1FH B5 & a1 Teh TYTA YT IWT 31T ¢ | f3aT B2 ) f3=a1 B1 & FUT (@T AT ¢ |



http://www.mahendras.org/

FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727 /

Seven persons A, B, C, D, E, F, and G are members of a family. How is C related to G?
(1) Ais married to the mother of D, who is the sister of C.

(1) F is married to G, who is the father of E.

(1l1) E is the nephew of the mother of C.

HTd SITFT A, B, C, D, E, F 3R G T INAR & Fe&a 81 ¢, G ¥ fFy ydR wafaa g2
()A &7 AaTE D Y ATV TITE, FAT C AT T@T ¢

(1) Fmﬁargeﬁgan%’a’rﬁ;rﬁm%l

(IN) E, C &Y ATAT FT HeloIT &

=i
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What will be the code for ‘candid’?

(1) if ‘candid moments are beautiful ‘ is coded as ‘ br, pa, ur, mo’
(11)  moments are cherised’ is coded as ‘, br, mo, zc,’

(111) ‘enjoy candid moments ’ is coded as ‘pa, br, ti,
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. Eight persons P,Q, R, S, T,U, V and W are sitting around a square table such that four of them sits at the

corner and for of them sits in the middle of the sides facing the center, but not necessarily in the same

order. How many persons sit between R and T, when counted from left of T?

(1) Three persons sit between P and Q, who does not sit at any corner. S does not sit at any corner of the
table and also does not sit near to R.

(1) W sits third to the left of Q and three persons sit between W and R.

(1) V does not sit near to R and P.

TS FTP, Q,R, S, T, U, VT W T G R AT & TRI 3N 5T THR 4 & o 347 § IR Hi
W%%ﬁtﬁﬁ#ﬂﬂﬁﬁﬁ*ﬂ%ﬂﬁraﬁﬁmwm%% dAfre 3maegs A¢T U &
AN TH T A A 0T, R 3R T F ey raad caFa I
()P IR QF AT T AFT 4§, N PN M FA W agidord 1 s, AT F Ff A wWagidord
IRRF AT M agT o]

(W, Q & I A FIAY TUTH 9T 4371 § 3T W 3R R & 7T i safad a3 &
(v, R 31T P & Awe AgT do1 &1
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Eight persons P, Q, R, S, T, U, Vand W are living in a building of eight floors such that the ground
floor is numbered as 1 and the topmost floor is numbered as 8 but not necessarily in the same
order. If T lives one of the floors below U, then how many persons live between W and T?

(1) Only three persons live between Q and S, who lives above Q. S lives on an even number floor.
(1) Only three persons live between P and U, who lives immediately below Q.

(111) Only two persons live between S and W

IS IFIP, Q, R, S, T, U, V 3R W 3115 ATl Y Tk SART A 3 TFR IEA & [ Hdo HT T&dT

1 ¥ 31 T SN AT ) TEAT 8 ¥ AR S A F sl FH A @ IR T, U F A R ve

AT W Igarg, at w 3R T & fiT fFaa cafFa wa & ‘ ‘

gsﬁzs,sﬁq%mm%,#aﬁammﬂwﬁﬁwﬁ%l S Uk H HEAT JTell Aforer I¥ gl
|

PIRUF AT Faad diacaFaga & s Q& SrF A w@arel

() s3I W FNTFaareafFa@a g
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Eight persons A, B, C, D, E, F, G, and H have different heights. B is taller than only one person.
D is taller than E but shorter than A. The second tallest person height is 175cm. C is taller
than A and F. F’s height is 170cm.E is taller than G. The third shortest person height is 160cm.

Cis not the one who is tallest.

TS egfFd A, B, C, D, E, F, G 3T H&HT FIATS HeII-37e9T &1 Bhde U Ifed U ol
2l D,EW oaT § dfheT AT BIET 81 FeH o Ifed Y FA$ 175 I &1 ¢ A
N FA a1 &1 FAY F€ 170 A 81 £, G A &aT §1 fHY ga@ o =afga A

F91 160 Y 81 cIg gl ¢ S |aIq o«r gl

If F is taller than A and the sum of height of A and E is 325cm,
then what can be the possible height of D?
(a) 165cm (b) 152cm (c) 150cm (d) 161cm (e) None of these

If the Sum of height of C and H is 360cm and the sum of height
of G and E is 325 cm, then what will be the sum of height of H
and G? (a) 355cm (b) 350cm (c) 340cm (d) Both (a) and (b) (e)
Cannot be determined
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. Statement: “If you are intelligent, we are the right people for improving your performance.”
— An advertisement of a coaching institute.

Assumptions:

I. Brilliant students prefer to join coaching classes.

ll. Coaching classes help the students to improve their performance.

lll. No other institute provides such coaching.

. Y "I 3T AT 8, A 5 3 ek F guR & foaw wEt v 81" - v i wEumer w7

STUMT:

1. AT BTF HIAT FHEI3HT F MRS AT I8 FIA ¢

2. FIAI FHEITT STAT B 3oToh Y&l A JUR Fla H AGE FldT &

3. IS HFT TEAT T PRI YT 78T FIAT

(a) Only | and Il are implicit (b) Only Il and Il are implicit
(c) Only | and Ill are implicit (d) All are implicit (e) None
of these
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Statement: ‘Several labour and industrial courts in this State have no proper premises. Vacancies of

judges and stenos are kept pending.’ — A statement of a retired judge of State X.

Assumptions:

I. Adequate number of staff and judges helps in the smooth functioning of the industrial and labour
courts.

Il. The state is not bothered about the condition of the labour and industrial courts.

lll. Physical facilities of an office help in increasing efficiency of its employees.

HU: '$H T H F5 4A 3 3@ et & 1§ 3Ra ok 7 &1 =i ik

m&rﬁﬁaﬁﬁmﬁaﬁamm%l' UF & UF GaTi=iqa AT ATeiier T 0 1 T |

ROTIT:

1. ;ﬁqmﬁmaﬁtmnﬁeraﬁammaﬁrmmé;wmﬁmm
|

2. T A 4A 3R 3t el A fRufa i wwae a8 81

3. wmﬁaﬁmmmﬂmﬁmaﬁaﬂmm#mm%l

[ ., e, |

=123
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Seven poles namely A, B, C, D, E, F, and G are installed in a society for electric wires. Pole D is 5m to
the east of Pole A. Pole F is 8m to the west of Pole B, which is 15m south of Pole D. Pole E is 3m west
of Pole A. Pole Cis 15m to the east of Pole G, which is 12 m north of Pole A.

vF SN #F Reeht & art & v @ 9O T, &, @, 9, g, UF 3R St eEne e §1 ga

DaaAa;qéﬁsma%laaFaaB$qﬁawﬁ8:ﬁa% ST ¢g DF 15 #Hex gf@or

gﬁgwea%anmmué“m#awcweaﬂsmuﬁﬁ% Y 4T AF 12
3R A

What is the shortest distance between Pole A and
Pole C?

(a) 11m (b) v369m (c) V129 m (d) 17m (e) None of
the above

What is the total distance between Pole F and Pole
E?

(a) 11m (b) 13m (c) 16m (d) 15m (e) None of the
above
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Eight persons A, B, C, D, E, F, G, and H are members of a family consisting of three generations and
two married couples. Both H and B are male and C is the only brother of E, who is granddaughter of
H. Neither A nor B is married to H, who has two children and one of them is unmarried. G is the
paternal aunt of F, who is married to the mother of C.

TS <afad ,B,CDEFeaﬁTHEﬁﬂmaﬁTﬂﬁaﬁammWa;m%lH

ﬁtsaﬁm% ,Ea»'rsam’lmam%% STHA A gl A A AR A& B, HT

mﬁaa?r 4 g=a g AN 397 & & FAaiRa 81 G, Fhr A9+ 3 &, orwer faamw
AT A 3T |

e ]

(@)

Who is Paternal Grandmother of C?
(a) H (b) A (c) B (d) D (e) None of these

How is B related to G? (a) Niece (b) Brother (c)
Nephew (d) Father (e) None of these
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s 2= P,Q,R, S, T,A,B, I CHR TFHFFWRTFH
TET AT §, IS Fosa & 37A9T-37A 3 &
3ruTe | AY, w19, B3esie, A, FiA, 7um, faEwe
3T YT ket STl 781 P 3 a7 3 @) YT &
ﬁﬁh#%ﬁ#mmamwm
¥ 3 1) Red A F RBed F I @ A1 ¥
fEsaT R, Bcoic & fosa & & < @71 AT B
d1Fd C B 15T S & FUT Afehed 1T T &F o= @1
?I'JT%'IEIU'IWA oo AT R A a8 § 3T
da1H P, fora# favpe 3R e w1di 8, & o it
ST T T | 98 ReaT A AT L, BeaTP &
mmwguma:maﬁzé’aa:ma:
AT Faad T Red @ T | Reara AT F
f3ed & S A1 TET R ¥ faepe & B4, o
Y ST @I AT 31 RearB, foraeT aree 3k
AT AT &, F T Red W T g

Eight boxes P, Q, R, S, T, A, B, and C are kept one
above another, each box contains different
products viz. Shampoo, Soaps, Detergent, Oils,
Creams, Spices, Biscuits and Toffees but not
necessarily in the same order. Only two boxes are
kept between box of Toffee and the box of
Shampoo and both boxes are kept above the box
of oils. Box R is kept just below the box of
Detergent. Box C is kept above Box S but below
Box T. Three boxes are kept between Box A, which
doesn’t contain Spices and Creams and Box P,
which doesn’t contain Biscuits and Toffee. The box
which contains Soaps is kept just below Box P.
Only three boxes are kept between the box of
Soaps and the box of Oils. Box Q is kept just below
the box of oils. Two boxes are kept between the
box of Biscuits, which is kept at the top and Box B,
which doesn’t contains Soaps and Spices.
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Eight boxes P, Q, R, S, T, A, B, and C are kept one above
another, each box contains different products viz.
Shampoo, Soaps, Detergent, Oils, Creams, Spices, Biscuits
and Toffees but not necessarily in the same order. Only
two boxes are kept between box of Toffee and the box of
Shampoo and both boxes are kept above the box of oils.
Box R is kept just below the box of Detergent. Box C is kept
above Box S but below Box T. Three boxes are kept
between Box A, which doesn’t contain Spices and Creams
and Box P, which doesn’t contain Biscuits and Toffee. The
box which contains Soaps is kept just below Box P. Only
three boxes are kept between the box of Soaps and the
box of Oils. Box Q is kept just below the box of oils. Two
boxes are kept between the box of Biscuits, which is kept
at the top and Box B, which doesn’t contains Soaps and
Spices.
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Boxes | Products Which Box Contains Shampoo?
T Biscuits (a) Box S (b) Box A (c) Box B (d) Box T (e) None of these
P Shampoo How many Boxes are kept between Box Q and the box
C Soaps which contains Soaps? (a) One (b) Two (c) Three (d) Four
B Creams (e) None of these
S Toffee
A Detergent The number of boxes kept below P is same as
R Dils above ?
Q Spices (a) T (b) A (c) B (d) R (e) None of these

Choose the incorrect combination from the given
alternatives? (a) P- Shampoo (b) R- Oils (c) Q- Spices (d) B-
Toffee (e) All are incorrect

In a certain way if C is related to Shampoo and S is related

Creams, then in the same pattern R is related to ?
(a) Toffee (b) Spices (c) Biscuits (d) Oils (e) None of these
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! L -
He<afFdaP,Q,R,S, T, U,V AT WTH Eight persons P, Q, R, S, T, U, V, and W are
JdTHR AT & IR 3N Fg A I AG FI& sitting around a circular table facing the center.

& &1 3o woft Y 17 Jreter-3rerer § 34T 15
a¥, 13 9¥, 3599, 3699, 60 9Y, 28 9¥, 72 ¥
3R 59 9¥ AT 3TTTF AT ST FA AN S
3 P T g F e 93t § Afder gorad
q FIS 3 36 a9 A HTOF WATAG 6. U, T T
frsreas g2 gt &, w P 3my 60 a¥ Ei
IRTERFEAF T AT STE. P, ST TH IW
Blere. W, R¥ Blere. Q, S T amg 7 &1
IOTST & R & 10 & AY T 9T da7 ¢ 31T R
IRPFHTdae 45 IR 3 60 TT Y
1Y qTel SAfFT & ol Fadd U A Td doT o
g e fad foIdeh! 3T 59 I¥ &, 60 ¥ Y 1Y
ITer SafFa & 910 & Sy T W AT ¥ T,
gad g1 eafFa ¢ AR o amg so af g, &
ey N cafFa 3§

they all have different age viz.15 years, 13
years, 35 years, 36 years, 60 years, 28 years, 72
years, and 59 years but not necessarily in the
same order. S and P are immediate neighbors
of each other but neither of them is more than
36 years old. U is not an immediate neighbor of
T. W’s age is not 60 years and also he doesn’t
sit immediate left of R. P is one year younger to
S. W is younger to R. Q, whose age is a multiple
of 7 sits second to the left of R and three
persons sit between R and P. Only one person
sit between R and the one who is age is 60
years. The one whose age is 59 years sits third
to the left of the one whose age is 60 years.
Three persons sit between T, who is the eldest
person and the one whose age is 59 years.
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Eight personsP, Q, R, S, T, U, V, and W are sitting
around a circular table facing the center. they all
have different age viz.15 years, 13 years, 35 years,
36 years, 60 years, 28 years, 72 years, and 59 years
but not necessarily in the same order. S and P are
immediate neighbors of each other but neither of
them is more than 36 years old. U is not an
immediate neighbor of T. W’s age is not 60 years
and also he doesn’t sit immediate left of R. P is
one year younger to S. W is younger to R. Q,
whose age is a multiple of 7 sits second to the left
of R and three persons sit between R and P. Only
one person sit between R and the one who is age
is 60 years. The one whose age is 59 years sits third
to the left of the one whose age is 60 years. Three
persons sit between T, who is the eldest person
and the one whose age is 59 years.
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P (35 Years)

(36 Years)
5 T
(72 Years)

W
(60 years)

w

(59 Years)

B (12 Years)

100

(15 Years)

Who sits third to the left of the one who age is 59 Years?
(a) S (b) T (c) U (d) W (e) P

Who among the following sits opposite to the one who sit third to the

left of V?
(a) T (b) Q(c) P (d) R (e) None of these

How many maximum persons sit between the youngest and the oldest
person when counted from the left of the youngest person?
(a) One (b) Two (c) Three (d) Four (e) Five

Which of the following statement is true about Q? (a) Q sits immediate
left of U (b) Q sits second to the right of the one whose age is perfect
square (c) Q faces V (d) All are true (e) Both (a) and (c)

Four of the following five are alike in a certain way based on a group,
which of the following does not belong to that group? (a) Q — 35 Years (b)
R - 15 Years (c) U — 59 Years (d) V -60 Years (e) S- 36 Years
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. “Dowry” which is illegal in India but it is entertained very pleasantly by the family members and grooms
itself. They take it as their birth right. There is a mindset in society that women have to take care of kitchen,
babies and home and men have to see their office only. But the bitter truth is that a woman gives many

sacrifices in comparison to men in persuasion of society. . "ggol" ST ART & 3der § AfhaT aRER &
"l AR gegl qanT dgd TG AN BT 1T §1 3 30 I SeATNGY HRAFR AT §
mﬁwnmﬁm%ﬁ;nﬁmaﬁaﬁuﬂé ot 3R W A @ FE § 3 gent @ Faw
mmm%laﬁmmmw%%wmmﬁma;mWﬁaﬁ
qetelt # %% afaerer ot B

Which of the following is not in line according to above statement?

I. There should be awareness program about dowry which should be regulated in the society on timely
basis.

Il. There should be law of death penalty for rape cases which is a must do step in India.

lll. Itis also believed that women should follow the customs that are made by the society for better
civilization.

(a) Only 11l (b) Both | and I1ll (c) Both Il and Ill (d) Only Il (e) None of these
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HT‘Qﬁ-T—I‘ABCDEFGHBﬁTIHTBWTBWT
asf & der 7w ¥ 374t 1976, 1978, 1980, 1984,
1988, 1991, 1995, 2001, 2004 SfeT TTTF el
E#rmfra‘rl (—qﬁ-‘cma?rma?rmaﬁzou
a;mz?ra?rmmﬁl)mmﬁaﬂwm
d&, Staret 3R SSfaaR Aferer ST o181 fop s+t
FAAEIFGUBIETg AfFTHATSTE, AT
aﬁ%lmﬁmua\‘r%wmaﬁr%lw
R CA T FTAT 62 a5 B A Faa dleT

TFT B &, o ¥ Tk Zrat ¥ GEwT Haw 9=
AT IeS I DN T 26 AN LI E, B F TH
el e e g3 o, A3t aE T & 3 YT a7t

g3 | E 3T A & faFaaraFaat T
E3T 4T D Y AT I STere Y 3TY FT AT 67 T
g1 a8 IR e Prarg F T FTaave Il A
aﬁaﬁ%lﬁvﬂmmﬁaﬁgmmaﬁﬁ?a
A e R T TSI pa A S ik e
g dHT 1 T 3R TR A g Fr AT 61 TN A

gAY TE &

Nine persons A, B, C, D, E, F, G, H, and | are born in nine
different year viz. 1976, 1978, 1980, 1984, 1988, 1991,
1995, 2001, 2004 but not necessarily in the same order.
(The age of persons will be calculated with respect to the
year 2021.) They all have different occupation viz. Driver,
Plumber, Carpenter, Painter, Singer, Nurse, Banker,
Doctor, and Engineer but not necessarily in the same
order. F is younger than G but older than H, who is not a
nurse. The one whose age is 41 years is not a singer. The
sum of age the plumber and C is 62 years. Only three
persons are younger to B, who is a driver. The one who is
the second oldest is Carpenter. D’s age is not 26 years. E
was born in a year after B, but he was not born in a leap
year. Only two persons was born between E and A. The
sum of age of D and the one who is Doctor is 67 years.
The difference between the age of Nurse and the
carpenter is 6 years. A is not a Nurse. | was not born in
1984 and he is neither a plumber nor a carpenter. D is
neither an Engineer nor a Banker. The sum of age of
Painter and Singer is 61 years. A is not an Engineer



http://www.mahendras.org/

/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

Nine persons A, B, C, D, E, F, G, H, and | are born in nine
different year viz. 1976, 1978, 1980, 1984, 1988, 1991, 1995,
2001, 2004 but not necessarily in the same order. (The age
of persons will be calculated with respect to the year 2021.)
They all have different occupation viz. Driver, Plumber,
Carpenter, Painter, Singer, Nurse, Banker, Doctor, and
Engineer but not necessarily in the same order. F is younger
than G but older than H, who is not a nurse. The one whose
age is 41 years is not a singer. The sum of age the plumber
and Cis 62 years. Only three persons are younger to B, who
is a driver. The one who is the second oldest is Carpenter.
D’s age is not 26 years. E was born in a year after B, but he
was not born in a leap year. Only two persons was born
between E and A. The sum of age of D and the one who is
Doctor is 67 years. The difference between the age of Nurse
and the carpenter is 6 years. A is not a Nurse. | was not
born in 1984 and he is neither a plumber nor a carpenter. D
is neither an Engineer nor a Banker. The sum of age of
Painter and Singer is 61 years. A is not an Engineer
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Years | Age | Persons | Profession | | What is the sum of the age of the Engineer and
1976 | 45 C Engineer the Plumber?

1978 | 43 G Carpenter (a) 62 years (b) 63 years (c) 71 years (d) 65 years
1980 | 41 D Painter (e) None of these

1984 | 37 F Nurse

1988 | 33 A Banker How many persons are younger than A?

1991 | 30 B Driver (a) Three (b) Four (c) One (d) Five (e) Two

1995 | 26 | Doctor

2001 | 20 E Singer In which year F was born?

2004 | 17 H Plumber (a) 1976 (b) 1980 (c) 1978 (d) 1984 (e) None of

these

Four of the following five are alike in a certain
way based on a group, which among the

following does not belong to that group? (a)
Plumber (b) Engineer (c) Carpenter (d) Painter
(e) Banker
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FIP,Q,R,S,V, X, Y 3 ef ASHIFRAS ¢
ﬁimﬁwmwmaﬁm%aﬁtﬁﬁ#wmwm
Reem Y 3 & AT 3TTeTF ALY P T HT o &Y | 3T TN F U
37oT3T-37e19T TTA § 31T 29 T, 49 TUY, 64 TIY, 36 T, 71
T, 67 I, 32 FIY A 43 YA AfhaT ST €T sHY FH A @
Y 3R X, 2 & Farodi feam r 3R 3791w B, forwe o 43
AT RFITPANAF 4L ST QF PFcdardI x&
9 P & FH el ¢ X & fAhean Tsil 1 7@ gawT feen
FI 3T v, v & e 78 do1 ¥ oS I g 3RE
T g, TFVH I A TN AT R AT I AATVIRAE
9 SEF TH e AWF g g, I WS g T
IfFd & I a4 F0F o= § 31 Ahecaqm g
gfaror fEem 1 3 377H@ 81 67 U aTel T 3T wa
F T TE a1 SqTa F i T cafea 38 & stk 3ot
A T 9fFd & 0 FA W o181 foTs I gad 7
T §, 98 39 T d FT Adhead =il 781 & ous
I Had 310 g g VHF I 36vud &l QF A
AT IRF IRAN TR FA TRz QF T @
A TIT R TR ¥ 3 X, 2 F AFcarm =i dr &1 v 3ilx
V & a1 8 sfFaat i g, v 3t s & T 33 gfFaar
Y HE&AT F FA 8, S g@ AT A AR AG I Vv EH
a3 &3 safFaa) 6 FE&aT, Q F g 3R 4 safaa) A
&A1 & AT 2

Eight persons P, Q, R, S, V, X, Y, and Z are sitting in a straight row such
that some of them are facing north and some of them are facing south
direction but not necessarily in the same order. They all have different
amount of money with them viz. Rs29, Rs49, Rs64, Rs36, Rs71, Rs67,

Rs.32, and Rs43 but not necessarily in the same order. Y and X faces
the opposite direction as Z, who has 43 rupee. R has more
money than P, who sits near to Q. X has less money than P.
Immediate neighbor of X faces the same direction. Y does not
sit near to V. The one who has the highest amount of money
sits third to the left of V. Neither V nor the one who has highest
amount of money sits at the corner. The immediate neighbor
ofthe one who has highest money faces south direction. Three
persons sits between the one who has Rs67 and the one who
has the least amount of money and one of them sits at the right
corner of the row. The one who has the least amount of money
is not an immediate neighbor of the one who has the highest
amount of money. V has 36ruppes. Q neither have the highest
nor the lowest amount money. Z sits third to the right of Q. Y
and X are immediate neighbors of Z. The number of persons
sitting between Y and V is same as the number of persons
sitting between V and S, who does not face south. The number
of persons sitting to the left of V is same as the number of
persons siting to the rieht of Q.
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Eight persons P, Q, R, S, V, X, Y, and Z are sitting in a straight row
such that some of them are facing north and some of them are
facing south direction but not necessarily in the same order. They
all have different amount of money with them viz. Rs29, Rs49,
Rs64, Rs36, Rs71, Rs67, Rs.32, and Rs43 but not necessarily in the
same order. Y and X faces the opposite direction as Z, who has 43
rupee. R has more money than P, who sits near to Q. X has less
money than P. Immediate neighbor of X faces the same direction. Y
does not sit near to V. The one who has the highest amount of
money sits third to the left of V. Neither V nor the one who has
highest amount of money sits at the corner. The immediate
neighbor of the one who has highest money faces south direction.
Three persons sits between the one who has Rs67 and the one who
has the least amount of money and one of them sits at the right
corner of the row. The one who has the least amount of money is
not an immediate neighbor of the one who has the highest amount
of money. V has 36ruppes. Q neither have the highest nor the
lowest amount money. Z sits third to the right of Q. Y and X are
immediate neighbors of Z. The number of persons sitting between Y
and V is same as the number of persons sitting between V and S,
who does not face south. The number of persons sitting to the left
of V is same as the number of persons siting to the right of Q.
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64 /1 4S ?\7 36 32 2 |, What is the difference of the money persons
sitting at the corner have? (a) Rs31 (b) Rs38 (c)
Rs33 (d) Rs35 (e) None of these

What is the position of Z, with respect to P? (a)
Second to the left (b) Second to the right (c)
Third to the right (d) Either (a) or (b) (e) None of
these

How many persons have less money than P? (a)
One (b) Two (c) Three (d) Five (e) None of these
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Statement: Should all the students graduating in any discipline desirous of pursuing postgraduation of the

subjects of their choice be allowed to enroll in the post-graduate courses?

Arguments:

I. Yes. The students are the best judge of their capabilities and there should not be restrictions for joining
post-graduate courses.

Il. No. The students need to study relevant subjects in graduate courses to enroll in post-graduate courses and
the students must fulfill such conditions.

lll. No. There are not enough institutes offering postgraduate courses which can accommodate all the
graduates desirous of seeking post-graduate education of their own choice.

HYUA: FIT YA THE F [TTAT & FATTHIO FI & SO fha) i AT 7 Trde F3a are gl sEt at

wmﬁmmﬁa@ﬁﬁaﬁaﬁw

gwmﬁmﬁww 1 3 TATTRIER TTasHa 3 enfiver g & YT+ wfdaer et
|

Tl | BTAT Y TATARIIT GTSTHAT H sTTHTdheT & AT TATdH ITSIHAT A TS fATIY FT ICTIT I Y

mm%aﬁzmﬁﬁﬂﬁaﬁﬁﬁWWM|

sTel, mmwmmmwaﬁ%sﬁmqﬂaaﬁmﬁmmma:

maﬁmﬁmﬁawmﬂ

(a) None is strong (b) Only | and Il are strong (c) All are strong (d) Only | and Il are strong (e) None of these
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The argument about whether demonetization was good or bad for the economy refuses to die down even a
year after the event. While one can endlessly debate, with very little data, on whether the ban on high-value
currency notes dealt a body blow to terrorism, corruption and counterfeiting, one area in which its impact
can be quantified with data is tax compliance. In FY18, net collections increased by 17.1%. Which of the
following can be postulated from the given statement?

I. Counterfeiting of notes was one of the major concern for Government of India.

Il. Many economists has termed it wrong as it has impact badly on the weaker section of the society.

lll. There has been revamp in the percentage increase of direct tax with respect to indirect tax.

FdegaeyT & AT AANFIOT =BT 4T AT 0, §9 IR A T €&l & T Ao 916 ) gACT g
#mm%laﬁmmaﬁrsﬁ#maﬂémﬂmwm%%mﬁn%
AFT Al W afaaer sraddle, ssear 3R Aot & e v a91 se @, U a7 P s
TN Y 3T F 91y iR fRar o1 a%ar § FT Ie[ureret gl R af 18 & ey wag # 17.1%
# gy g8 ARG & ¥ #i9 RU v g7 ¥ FABAT Far s ghar §72

1. Atel #iT TN HRT WHFR & AT yop@ Rt # § v o

2. ﬁaﬁanmﬁ#@mwﬁm%mmma:maﬁwwmm%l
3. AYCTET FT F AU H Yegal FT dr Gfard gefer ¥ UR fFar o g

(a) Only Il (b) Both 1 and lll (c) Both Il and Il (d) Only lI (e) None of these
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